201044 H15H E#im

et

I

B EE

| BB EM - EHRYNARAF

wosiaieon TRUE: RERERE RERARY RESHRY ARAAZR (RETH) 2METAANRRRENE 67100008

i B2
AT R24
B kg
& B ] 155

* EIPRBRIE . EPRER 5 At LR X O % 63930908/65190902 & hit AR 55 S5

* BB RE . XIBIEERE T X AT 68244584/65195019 & hit AR 55 i

123m?2 3-1 27/29

07 &£ WEE%E 83 A

53m? 1-1 22/29
07% 5% 3BA(5E)

94m? 2-1 1/7 96 &
Sw% 4073

1983m= 4—2 3—4
= =X/11 04 £
isE 95 FF

76m? 2+2 5/7 95 £
s 45 7
13598092494

50m? 1+1 3/7 03 £
s 257
13598092494

hIRERSRIGE: | XKAHHHE |FAEERAREME &AL E IR 3 HT AT KEHHHE [ HHIESE | KFiEREH
69m? 2-2 95 4 2/6|51m? 2—1 2/5 [ $|71m* 3-1 4/5 S &% 80m* 3-1 95 4 3/7| | JIHM 322 A2 | 70m? 3+1 4/7 96 4 |40m? 4% il 11/12|90m? 2+2 6/7 00 4
WSk 29.6 5| #E45 188 A 327 =M 368 55 J3 EpSEE 29870 #HE 21 | XHKSKEE 407
DARmBFE | rPARERIE FIBHESSE AR B PARTY| | BEA/DNFMHNE | @Rt KR Xl
85m? 3-1 96 4 2/7|85m? 2-2 97 4 6/7| 71m?2 3—1 f& % [30m? 3/7 04 £F| |70m?2+1 3/7 90 %| ©CS[Y.SHO9ZF | 118m2 341 08 4 | 89m? 2+1 2/6 95 4
SEE 1A XWsEE 37.87 29 1 ¥ 16.8 3| SFEEE 327 3155 WSEE 71.8 7 | XHSEE 4267
* RFBIE. XFHMEE LT X OB 200 K% 68241563/65192121 S WP AR 55 & | | * SRR . LG X X 0@/ 50 KEsF 67360022/65277555 <5 ht AR 55 Ji&
S i B R AEMGE | KFEB@RHMLE RREFTHEMR | B | KRB HL | KIEEREESE | A LERASORE
O o e ||103m? 3-13/7 98 # | 113m? 3-1 3/7 97 £ |90mM? 22 4/7 96 4| |01 # xmeykun x| O Br2 2T 00 F7OM S+ 1 2 A SO 2 Y 0 o
435 7 WSHEE B3 A S % 46.5 71 SEE 4207 19157 Paasee 13137736588 13598092494 13137736588
B B AR AR Wk B 8 28 S 5L 37 ¥BA ] FFScARdk 2% E MR R

78m? 3+1 4/7 96 £
=i 367
13137736588

71m? 2+1 2/7 97 £
st 27 7
13598092494

X =E 13T 30 SB:

90m? 2—-2 4/7 98 £

T b i 35 28 A B BR
42 75

* RICBE REGETRZ X ARE 20 K 68238811/65196080 = i AR 55 I

*EERE BRRELBEHEEBRE_RERE—FK 67973043/651910

16 &= W AR 55 )5

AR BR L 1E 13T
HRIEBE
87m? 21 5/7 92 4
FdLiEENYE 40

i B R 55
100m? 3-1 6/7 95 4

miiEEEE 46 7

X2EH 21 Sk
80m?2-2 7/7 98 &£
mitEEHE 31.8 7

ek & ST 7 B =i E
62m2(# Z&FEM) 2—1|133m? 3—2 5/7 03 £ 93m?2 2—-2 5/7 02 4
4/6 95 4F FadLif 5| H5 L i B Ak 3L

By 27.873| EXRE 707 SEH®E 46

£l EMHE
90m? 2-2 6/7 00 &
mitEEHE 417

FotiRHE
6/7 BN 109m?
3+1 024 53 A

BIRERAE
94.22m? 2/6 M=

EiE 2+2 45 7

S= S BE 6 DR BH
EEPLSImE BT
2/7 2+1 88 &=

X A TET HE 55m=

25 I3

EEIEEBRMES
128m?2 02 £ 3+2+2

B 4/7 76 5

= F 3N =4
95.27m? I = #E 3=
5/6 3+1 96 £
45.6 75

DHAERRE IR
3+1 80m?2 =X +iE
88#4 357

b E -
56.49m?2 1/6 h
Bs241 2573

g == B 1K 4 B
70m= 2+1 5/7

90 £F FEILEEN
BZEE 32 73

* REHE . R=HRE R X AR 50 K7 63615003/65190508 = hil AR 5% S5

* RS . AR E R X ORI A 67511311/67522233 4= ke AR 55 )15

7 P B R ol B ERD MM A= EEt FF5cER E SASHSE TN BX |73 s T an ik
91m2 2—2 6/7 98 4 |84m?2 3—1 3/6 00 4 30m?2 xR E 5/7 04 | 72m= 3—1 3/6 118m= 3—1 6 | 98m* 22 6 #f& 101mMm= 3—2 6 & EB 6 1 BEE£d
FEIR XA R A KB |86 FF X 18 3= O1 £ X ¥53< |05 FF RN E I |98 F XN E IE | 13m=2 08 £ 4/6
WSEE 39.87 | SEE 4357 14.8 73 39.8 73 51 73 34.8 73 a8 73 36.8 73
EEE I | RSHAMEE | DAERREMEE | FR=EAmER FLsRE  RHESEEIEE EWEsE K BALIX
R B Gl |105m? 3-2 1/7 98 % [118m? 3-2 4/7 97 & | 2o S R O S | A o | 114M?3-2 R#S | 89mP2-2 MK | SO
a0.8 73 S#H% 56.8 7 St 65475 54.8 75 6175 4% i 49.8 77 |05 & H% 4357 43.8 73
* BEABRRIE  Bi A B X OE7% 100 K34t 68288622/65190102 xR AR 55 /8 k BBHAIE . BUBM @ X X O % 50 #5k 68767571/68767573 < kit AR 55 /&
BEMER R BE | SLIEHTBEmE L] 1G] B FE B AR IDAR | KFEHTENR === 3E
64m? 2+1 3/7 96 4F |42m? 1+1 3/6 90 4F |75m? 3+1 5/7 97 4 |66mM? 241 6/7 98 | | o a0 o ok s | 66M? 2-1 3/7 99 4 |91m?2 2-2 4/7 98 4 | L2 2™ 32 O5 F
BE+%EH 2857 g2 187 ¥ 317A Bk 2857 100 75 ERASEHE 3057 | ZARSEHE 1P| == 75.5 73
R BRRES BN X KE#HRSH KRR REEFEEH _SEX k] =
42m? 1+1 3/7 95 4 |60M? 2+1 6/7 94 4F|77m? 2+1 4/7 95 4F [55m? 3+1 3/5 85 4| | 192M> 02 £F | gar & e b 20 lon B o ox 2 2o we| 110M? 2-2 00 4F
B2 197 g 2357 B 367 gE 2127 350 73 =y 25.5 J3 58 73 WSHE 43558

o e

BrEEEAN

R 68107277 68107207

= A Bt

NS mEEL.68107277

RF600+45%8R BIBTIDEIE FRFEESAREFERAE1 85T 6F

EmtHE
160m’3-2-2
1351407
(TEZRPD
LRy

wEEF
FRAH
B

2iREL
it -1
Y5107

I'*I
T8’ 4-2-1
BB 10T

K A
1500 3-2-2
YBR0T
|5k

K1
i’ 3-1-2
i 305

B2t
% 2-2-1
(ki)
57100

ARk
106m? 2-2-1
M5&%k

EyEt
90m? 3-1
2805
H&585 T

HUERE
EREN
Ll

FHERE
81m? +17m?
HWTE 2-1
6/1 R#S
#EWS5T

331
98.99m?2-2
151805
EE5A

FHEAR
109m?+15m’
WTE3-2
31 XHS
L5250

Lot
130m?3-2
IR NS
£5917%

s
109 3-2

1M R5ES
13

EKEH
90m?2-2
ik et
5655

L5t
%m0 §5 6
- E05

B %

HUERFE
LEZi

AiEAI0TE

L
148m25.6
g3 /63-3-2
EH0S
8%

£oEt

00m?3-2-2

36 EHENT
60

L
224’ 4-2-1
1234
NS
205

EFEt
82m?3-2-1
1R /5

BENS

58 7

e
90m? 5
HTE 3-2-1
6783 /7
EENS
465%

LRt
176m?4-2-1
-11/6 8
NS
%7

ETRE
120m? 3+2
5/7 00 ££
RERR
5077

U
X/

HiESRGETS

BUBHES
HEEIRE
350m? 54343
ENS 08 %
MA%E

Ku&EX
91m? 242
6/706 &
5465

k&
143m? 34242
BENS
10/16 06 £
1357

TR
120034260

FEAS00E
Y]

BUEHES
hPREURE
5m2-113 B
BETS0BE

BH%E

AMTIXER
118m? 3+2
BENS
Mok 98 £
557

LREHR
108m?2-2
5/16 %S
BEUE
52

UERE
X5HE

i A0076E

L RE#HR
87m?2-2
BIBERS
i 07 &
0F

HEEE
107m?3-2
67 WS %
9 £ 488

ZEIHE
143m?4-3-3
318 KRS
FH07E
1205

i
ST 2-22/16

RiSR%
MENTE

BltS
173m?4-2-2
18/25 M5
085
155

CEEE
S8 2-2 27
KR
16§ 8437

WIKER
214m?5-2-2-2
568 04 &

BEERS

075

Bl
e
s

kiR

131m?3-2

3108 %
BREXRS

Betlas

Bame2-11/1

9B E higk
)i

%]

EHER (k)
120m3-2-2
11108%
EEHS

HERKER
84t -2 67
B EBEE

w5 | ASB5T

LEF
105m2-2 26
331

WtER
120m3-23/1
343

KRSRE | KRS 687

sz§§<\g

31 B 28 H==HiR

HENAN MENUANAVIATION

2LNETITERRRS: BINERR/ TiniER

12400-65-96677

BEIVEZ/ s

MIN—HIM290TAE I —F IKB205THE
N —FEB290THE M —I8/RIEB00TTAE
MIM—22M3007 M —5E JI12805THE

> 4

FHHEIRAE]

FBM—FHEI50TTAE
I —E/R800THE

M —& 1L5507THE
I —ZRFT20007TH
L,LJ:m%ﬁTmﬁuZ 15K, AEWIFEIRR LR HMMER 2=

http://www.65622222.com




